. W sen fahg seifa et §2

(A) +HR (B) s

(C) sifsan (D) Tv&
Which tribe is related to Lal Bangla? |

(A) Kamar (B) Baiga
(C) Bhunjia- * (D) Pando
| & w1 e fhe e § feem ¥2

(A) T (B) i
©) T (D) s
Shrine of Chang Devi is situated in which district?
(A) Surguja (B) Koriya
(C) Surajpur (D) Balrampur

o9 R 3 W Hepta % W % fog iR feawl w et s =it e
7?2

(A) ey, 9  (B) v

(C) fava anfeardt feag (D) ST gt

On which of the following days the State Government declared public holiday for
the preservation of rural culture?

(A) Hareli, Teej (B) Karma Jayanti

(C) Vishwa Adivasi Diwas (D) All of the above

FdaTe § Teel 9R ‘U Al T4 Helews' 1 SRS e T wan?
(A) 27 ¥ 29 IER, 2019 (B) 29 ®§ 30 TR, 2019

(C) 27 | 29 fe@=w, 2019 (D) 25 | 28 3TaRSR, 2020,

When for the first time ‘Rashtriya Adiwasi Nritya Mahotsava’ was organized in
Chhattisgarh?

(A) 27 to 29 October, 2019 (B) 29 to 30 November, 2019

(C) 27 to 29 December, 2019 (D) 25 to 28 October, 2020

[3] CQRP- 1



I

T TG ¥ e et @) fo ferg S S E 7
(A) FTO-Fell HeHR

(B) fufv fo3 wemer

(C) a&Ri=e 4 leflge & Teen a1

(D) diy™ FereR

For which reason ‘Chendru Mandavi’ of village Garhbengal is RS
(A) Artist of Wood-craft

(B) Artist of Mural Art

(C) The First hero of Hollywood from Bastar region

(D) Artist of folk dance

ot ol = gt Tt fren o -

() TSR Gl <ot S gy g enfeardt safaae e mER @
(i) =T M T® W arafsE A qEvear o

(A) THl 99 ¥
(B) =i s/y™ &
(C) Fad (i) T &
(D) aa (i) 99 ©

Read the following sentences and choose the correct option :

(/) Rajmata Fulwa Devi Kange is related to famous tribal personality Kangla Manjhi

(1) The real name of Sant Gahira Guru was Maheshwar
(A) Both are correct

(B) Both are incorrect

(C) Only (i) is correct

(D) Only (i) is correct

[4] CORP -
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7. Tafafes « gafaa wifw
(LU "E

(a) 3™ () =
(b) wEw (i) R
(c) amEm (iii) |
(d) <" (iv) Rl
T fawc w1 Tad Hifau—

(@ & (©) (d)
Ay Gv @) @ O
B O @ G G
© @y @ @ @)
D G G @) ()
Properly match the following :

Festival Month

(@) Aamus - (i) Chait
(b) Sarhul - (i) Kwaar
(¢) Navakhai B (7if) Sawan
(d) Dussehra - (iv) Bhadon
Choose the right option—

(@ & © @
A @ @) @ O
By () @G v GiD)
© Gy @ @ (i)
O) @) (@) @ )

B [5] CQRP -



Frafafan srenfil 1 sk ger fram & (Fe

S

(@) ETE HRE .
(6) fsan -
(c) fog@R -
(d) Sregtsan =
TE faseg 1 w99 sifou—

@ (& (©)
A @O @) (v
B) @G @ )
© @ @ G
(0) B 19 B €77) B ()

)%Wﬁmm:

e frarw & ()
(i) - SIS ST
(i) SIRTY

(i) TRAmES

(iv) TREITY

Match the following Tribes according to their Main Area of Residence (District)

(@)
(b)
(c)
(@)

Tribes

Hill Korwa

Bhunjia

Binjhwar

Abujhmaria

Choose the right option—

(A)
(B)
(©)
(D)

(a)
()
(iii)
(i)
(v)

(b)
(i)
®
(i)
(#id)

(©)
(iv)
(i)
(@)
(@)

Main Area of Residence (District)
(@) Balodabzizar—Bhatapara

(i) Jashpur

(7ii) Gariyaband

“(iv) Narayanpur

(d)
(if)
(v)
()
(if)



9. T wremi % am 3% woniw ¥ g Wi

ML MEC
(@) F=wa - () 7 9w
(b) wheadd ~ (i) TR F
(c) T - (i) g dwW
(d) TuTw - (iv) o= a1 |9

el fasew w1 = Hifvu—

@ & @© @
A @O @ vy i)
B) ) @) G o G)
© @ O @ i)
M @ Gy ) O

Match correctly the names of the following Rulers with their Dynasties :
Ruler Dynasty
() Nal Vansh

(a) Kanhardeva

(b) Skandvarman - (ii) Sharabhpuriya Vansh
(¢) Durgraj - (iii) Pandu Vansh
(d) Harshgupta = (iv) Chhindak Nag Vansh

Choose the right option—

(@ O (c) (d)
A @ @ @) i)
®) @v) @) @) )
© (v @ @) (i)
o Gy @) @) 0

B " 71
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10. WS ool & A8 FIGHHATER FET ¢

11.

() e iR

(if) “IgUE (geeE) feamht
(i) fazga fara

(iv) e B 1

T fawew S

(A) (@), (i), (i), (iF)

(B) (), (i), (v), ()

(©) @), (i), (), (iD)

D) (@), (), ), (iv)
Arrange in chronological order the names of Maratha Subedars :
(i) Keshav Govind

(if) Yadurao (Yadavrao) Divakar

(iii) Vithal Dinkar

(iv) Bhika Gopal

Choose the right option—

(A) (@), (D), (), (i)

B) (i), (i), (), ()

(C) (iid), (i), (iv), (i)

(D) (i), (i), (i), (v)

1933 & TS 1 AW X F fAC AT FW A ToEIR wiew ¥ wrawd @ W
T

(A) fara foad (B) A w wi=

(C) wH. . A (D) W, wm &4

Name of the Principal of Rajkumar College who invited Gandhiji to deliver a speect
in 1933 is :

(A) Smith Piers (B) T. A. Scott
(C) H. M. Larri (D) L. S. Carry

ren i




12.- s & frafafas saEr-vE\ # S5 goesl @ gafea s

AHTER-U

(a) HaA

(b) oTER

(¢) WohmI

(d) Tegaw

&t fawew g .
(@ ()

A) @) @)

B) Gv) @)

© @Gv) ()

D) @E) @)

HHigeh
(i) I TR
(i) FFTET TG
(iii) Harea aHf
(iv) H¥E YHE EL|
© @
(if)
(iii)
()
(i)

Match correctly the following Newspapers of Chhattisgarh with their Editors :

(@)
(b)
(©)
)

Newspaper

Suryoday
Alok
Prakash

Haihaivansh

Choose the right option :

(A)
(B)
©)
(D)

()
(iii)
(iv)
(iv)
(iii)

(b)
0
(i)
(iii)
(v)

©
(i)
(iii)
(i
(i)

Editor
(i) Uday Prasad
(ii) Yadunandan Prasad
(iif) Kanhaiyalal Verma

(iv) Keshav Prasad Verma

(d)
(v)
(1)
(if)
()

[9] CQRP -



13. Ra Orer st ¥ Fr d 9 or, 1942 1 {TCAN

gafed Hife -

T
(a) g 3yt
(b) TEREY SOt
(c) weHUfEE Ivgm
(d) 1. 9%, ameE
el fawew gfm—

(a) (5) (c)
(A) (1) 6) (i)
B ® i) ()
© G vy G
D v G ()

mﬂﬁ?‘““"ﬁaﬁm“’ﬁ%@

I

G i
&) TR
(iif) SHAU
(iv) faemaq

(d)
(iv)
(iii).
(iii)
(ii)

Match correctly the leaders who were arrested during the Quit India Movement on

9th August, 1942 with their places :

Leader

(a) Yakub Ali
(b) Hamarayan Bajpai

(¢) Laxmansingh Deshmukh

(d) V.Y. Tamaskar

Choose the right option—

Place

(7) Durg
(ii) Raipur
(iii) Bemetara

(iv) Bilaspur

@ ® © @
@ GG G W)
® GO G ) (i)
© G M G G
® & @G G
" [10] SRl
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14.

15.

16.

Hodriferh aRfeefd, e SR, 4 W ora % B seTg § SHiak

i Jeffed 9 e w1 a8 sy fega €2
(A) fa. Sf== B) f= Tm@
(C) T8, fawm (D) 1. Ty

“Due to geographical situation, social system, arrangement of land, the existence of
Zamindars in Chhattisgarh remained natural and inevitable.” Whose statement is this?
(A) Mr. Jenkins (B) Richard Temple

(C) Mr. Chishom (D) Mr. Agnew

fada afaTa smm sidem ¥ So@ ® Age W g¢ S1 TUEE H FF RwR fhm
1?7

(A) 12 ®E, 1932 (B) 16 Hr, 1932

(C) 19 31¥a, 1932 (D) 13 54, 1932

When was Dr. Radhabai arrested while leading procession in the Second Civil

Disobedience Movement?
(A) 12 February, 1932 (B) 16 March, 1932
(C) 19 April, 1932 (D) 13 June, 1932

bt F G EH T U e 5 e @ W T 8
(A) Ts[are ol '

(B) g ATl S
(C) o w68

(D) e yoR fag

Who among the following is net associated with the establishment of National

Vidyalaya of Rajnandgaon?

(A) Rajulal Sharma

(B) Padumlal Punnalal Bakhshi
(C) Thakur Pyarelal Singh

(D) Baldev Prasad Mishra

[11] CQRP -
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3G ailjmﬁﬁ % :
17. e s weam, 2020-2021 § oG @ g Wl

el glg
(@) SfW (i) 0.75%
(b) 9 (i) 4.61%
(c) = (iif) —5.28%
e Hifsg—
(@ (b ()

A @O @) i)
B O @) (i)
© @ GE) @)
D) @i @) )

The GDP of Chhattisgarh estimated in the Economic Survey, 2020-2021 of
Chhattisgarh is :

Area Growth Rate
(a) Agriculture @ 0.75%
() Service (ii) 4.61%
(¢) Industry (i) —5.28%

Match correctly-

(@) (D) (o)
@A @& @ @
® @ @ D)
© @ @Gy O
(D) i) (i) ()




18. BYE ¥ yarfed ‘aa & % wary § FE wuAl A 9gel w1 fashed g7
(i) 9= I AR # wel | e ¢
(i) 39 TR W Hed JoyaE afed &
(iii) T T 1 F W G 79§ foe ot ®
SR § ¥ HHA-A1 HYA T ® ?
(A) () 3R (i)
(B) (i) ¥R (iii)
(©) (i) ¥R (i)
(D) (@), (ii) SR (i)
Read the following statements related to ‘Banas river’ flowing in Chhattisgarh and
choose the correct option :
(/) It originates from mountains of Manjhatoli
(i) Kotari waterfall is situated on this river

(7ii) It joins Son river near village Dembha
Which of the above statements are true?
(A) (i) and (i)

(B) (if) and (iif)

(C) (i) and (iii)

(D) (i), (ii) and (iii)

[13] CQRP- 1



19. T ¥ =¥ we gifea Fif

(a)
(b)
(c)
(@)

(A)
(B)
(©)
(D)

THR Sl ST

e TTEYE HEH

fram wiffdm =fe

HIW FTHYH F5
@ & (©
@ @) i)
@ @ O
@ G (v
@@ @ ()

Match correctly the famous places in the State :

(a)
(b)
(c)
(@)

(A)
(B)
©)
(D)

Tomato Capital
Rice Research Institute
Kishan Shopping Mall

Kosa Research Center

(@
0
(id)
0
(i1

(5)
(if)
(v)
(if)
(0

(c)
(iii)

(iv)
(iif)

(d)
(iv)
(iif)
(iif)
(iv)

(i
(id)

Rajnandgaon

Ludeng

(ifi) Bastar

(iv) Labhandi

[14]
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20. HAT (A) : 9 2017-18 F Ffa gfg Tga w7 (~10.90%) T H TR
T (R) : 2017-18 # oS98 @ H 97en § 5@ ® |
(A) O FU (A) TH FWOT (R) G ¥ 1 FE (A) FOT (R) I TE FWA T
(B) a‘ﬁ‘f?ﬁm(A)qaim(R)m%nwm)wm)aﬁwqﬁm%
(C) HuF (A) 3R FR (R) &l & el €
(D) SR ¥ § g &l
Statement (A) : Very little agricultural growth (-10.90%) was recorded in the

year 2017-18.
Cause (R) : Many Districts were facing the problem of drought in 2017-18.
(A) Statement (A) and Cause (R) both are true. Statement (A) explains the

Cause (R)
(B) Statement (A) and Cause (R) both are true. Statement (A) does not explain the

Cause (R)
(C) Statement (A) and Cause (R) both are not true

(D) None of the above

21. fa9gom 44, zow—zoﬁm:ﬁmﬁﬁﬁmﬁwamwaﬁ@ﬂﬁﬁnﬁ (Ff
a9 & AFER) ?
(A) SHeFiR-=i, TareT
(B) foremgy, Saarel
(C) SISTIR-=dT, TR
(D) ®d, AL
In which district respectively the maximum and minimum p

marketing year 2019-2020 (according to Agriculture Department)?

addy was procured in the

(A) Janjgir—-Champa, Dantewada
(B) Bilaspur, Dantewada
(C) Janjgir-Champa, Narayanpur
(D) Dhamtari, Narayanpur
A - [15] CQRP- 1




]
22, R faedt F 9R § wiH-w wud W@ T ¢ 7 %

23.

! U HH
(A)%ﬁaﬁﬁw;mﬁaﬁﬁaﬁwaf%amﬁﬂﬁ?ﬁ S

R U R &
(B) u% fiedt F=R fiedt 4 F9 IUolS el ©
(C) 39 fazdt § @t &1 wen efus €
(D) 39 2@t ¥ Y@ i wen affuss St @

. i soil?
Which of the following statements is not true about Matast SO1
: ' il and low
(A) This soil is usually found at altitude higher than that of Bhata so er
than that of Kanhar soil
(B) This soil is less fertile than Kanhar soil
(C) Iron content is high in this soil

(D) Sand content is high in this soil

frefafad a1 wFgEs 9fer ok w8t S AT

() UG T ¥ @I 37.46 @@ HUF THER © |

(ii) SEETg U9 & GSDP W waifysh dreH $f &5 1 7 |
(i) BraTe T § Ha F NafiF &7 & ofwia W@ ® )
FHA-GI/HA-H FUT FET /e ?

(A) I (i) T (i) (B) ed (if) W (iif)
(C) e (i) W (i) (D) s (i)

Read the following statements carefully and choose the correct answer -

(i) There are about 37.46 lakh farming families in the Chhattisgarh State.

(ii) Agriculture sector has the highest contribution in GSDP of the Chhattisgarh
State.

(iif) Agriculture is kept in primary sector in the Chhattisgarh State.

Which of the statements is/are truc?

(A) Only (¢) and (ii) (B) Only (ii) and (iii)

(C) Only (i) and (iif) (D) Only ()

L] CQrRP- 1




24. TfafEd § 9 S9-w/a9-8 Fu99 & 2/ ?

0) Wwﬁmﬁﬁmﬁ%mww%mwwﬁﬁﬁm
(i) STHEH G H TR TN YR A (YUH) gIA

(iii) foen wfed wok & &1 9= o

wel fowew =9 -

(A) (), (if) ¥R (iii)

(B) (i) R (i)

(C) &ae (i)

(D) ST H A w15 &

Which of the following statements is/are true?

(/) After weakening of power of Satavahana dynasty, Vakataka dynasty established its
kingdom

(if) First king of Vakataka dynasty was Pravar Sen (First)

(iif) Vindhya Shakti was son of Pravar Sen

Choose the correct option :

(A) (i), (i) and (iii)

(B) (7)) and (i)

(C) Only (i)

(D) None of the above

SdE ¥ uF @ e e W g 2021 F ivifos @hae (SHem. o) W fe

25.
™ ®?
(A) WTEIE W (B) oS
(C) g (D) T s
Which variety of paddy of Chhattisgarh has been granted the Geographical Index Tég
(G.1. Tag)?
(A) Badshah Bhog (B) Dubraj
(C) Jeeraphool (D) Tarun Bhog
B [17] CQRP- 1



26. i T FrErl W g e g fe e S €
(@) et et & |
(b) farea Tt A
(c) hifH® AW o
(@) it =t foewdl & g9y o
R fET T e A ¥ W IW w 9aT HfHe—

(A) (a) 3R (b)
(B) (b) 3R (c)
© (), (¢) 3R ()
(D) (a), (b) 3R (c)

The State Government controls over urban local bodies :
(a) 1n legislative matters

(b) in financial matters

(¢) in personnel matters

(d) in respect of citizens’ grievances

Select the correct answer from the codes given below—
(A) (a) and (b)

(B) (b) and (c)

(©) (b), (¢) and (d)

(D) (a), (b) and (c)




27. 9 < 53 Ry g €1 T A HYA (A) R gE R FRO (R) T TR
HUF (A) : TR T s ffed @ 9w wAEEn 9 ¥ TR H Tied
fer s €
TROT (R) : oS TR H FRT GG 37dd Sifeel WHfa o1 e ¢ |
S < el & weol A frefafas § @ wiA-w W&l €2
(A) ST T (A) T FRU (R) T § a0 FA (A) H1 W LB FRO (R) ¥

(B) ST ¥F (A) aum HR (R) W&l § W F (A) A W TEF FRO (R)
&l ©

(C) = (A) W&l § T SRV (R) 7o ©

(D) U (A) T § W] RO (R) TET ©

In the following questions, there are two statements. One is labelled as Assertion (A)
and other is labelled as Reason (R) :
Assertion (A) : Municipal corporations are formed in big cities having a definite

area and population.
Reason (R) : Urban administrations of big cities are very complex in nature.

In the context of the above two statements which of the following is correct?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation

of Assertion (A)

(B) Both Assertion (A) and Reason (R) are true but Reason (R) 1s not correct

explanation of Assertion (A)
(C) Assertion (A) is true but Reason (R) is false

(D) Assertion (A) is false but Reason (R) is true

[19] CQRP- 1



() TRAfew gt
(i) g wfufaat

(iff) WETR S |ifa
(iv) TSen smasHT wfafy
R fRT T Fe = owEn W wE sw giie—
A) ()3 @)
(B) (), @), (iii) 3R (iv)
© @, (i) 3R (iv)

(D) @i), (iii) 3R (iv)
Which of the following has been provided in the 74th Amendment Act, 1992 of the
Constitution?

() Municipal Committees

(7/) Ward Committees

(ii) Metropolitan Planning Committee

(iv) District Planning Committee

Select the correct answer from the codes given below—

(A) (i) and (iv)

(B) (), (i), (iii) and (iv)

(C) (i), (i) and (iv)

(D) (i), (iii) and (iv)

B [20) —— e
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29. U9 faurfasm § waftm o84l = gafed wifs -

(a)
(b)
(©)
(@)

(A)
(B)
©
(D)

Match the articles related to State Legislature :

(@)
©)

(©)
(@)

(A)
(B)
(©€)
(D)

Tsdl o faufaet 1 e (i) ST 178
faum | o oeAey qen IURAR (i) T 199
el & Se- 9 (iif) TR 168
‘fau fagas' &t gRym (iv) STT=% 195

@ ®» © @
@\ Gh G (@)
) G G i)
(i) (1) (iv) (i)
Gy Gi) @) @)

Constitution of legislature in States

The Speaker and Deputy Speaker
of the Legislative Assembly

Salaries and allowances of members

Definition of ‘Money Bills’

(@ @B (© @
() @) @) (iv)
(vy @) @) )
Ggip @ @ @)
Gy @ @ @)

(i) Article 178

(i) Article 199

(iti) Article 168

(iv) Article 195

[21]
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30. Trafafen 4 4 w-wvm-g gm e gaf 987

(a) W wifer) afwe > R T

(b) d=rE T wfieno _ g e e

(c) Y9Ma 3R et ¥ ey _ a9 A
R

(d) T o & e s _ o % @ T "
FEFHH % fow wemafie srEwn

Fe :

(A) (a), (©) ¥R (@)

(B) *a@ (b)

(D) (a) 3R (b)

Which of the following pairs is/are correctly matched?

(a) Rationalisation of Panchayat Statistics —  W.R. Rao
() Panchayat Raj Training — A. S. Trivedi
(¢) Working Group on Panchayats and — 8. D. Mishra

Co-operative

(d) Administrative Arrangement for - G.K.V Rao
Rural Devclopment and Poverty

Alleviation Programmes
Code :
(A) (a), (c) and (d)
(B) Only (b)
(C) (a), (b) and (c)

(D) (a) and (b)
B [22]
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31. 9 A e Ry MY ¥ 1 TH W wE (A) R TEY FOFRO (R) T TR

FAT (A) : 5o =i o &1 =R wer =i sifusr@ g 3

ST (R) : foen =meft & o =nifys @ ywmfes 9Fl weR 8 vheal B $)
ST 9w e ¥ oerw wf sifiey muerEl F ew yddsh whm oft
Bl © |

SWE 1 gl & ded A freAfafea 4 @ #iA-w wd 22

(A) THI &2 (A) T FRU (R) W&t & a1 6o (A) 1 GE) T FR0 (R) 2

(B) THI U7 (A) 991 HRU (R) Wl § a1 %o (A) H G SIEHO FRO (R)

Tl ©
(C) =¥ (A) W& § Tg FRW (R) o ©
(D) F¥F (A) T T R FRU (R) TE R

In the following questions, there are two statements. One is labelled as Assertion (A)

and other 1s labelled as Reason (R) :

Assertion (A) : The District Judge is the highest judicial authority in the district.
Reason (R) : The District Judge has both judicial and administrative powers.
He has also supervisory powers over all the subordinate courts in

the district.

In the context of the above two statements which of the following is correct?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation

of Assertion (A)
(B) Both Assertion (A) and Reason (R) are true but Reason (R) 1s not correct

explanation of Assertion (A)
(C) Assertion (A) is true but Reason (R) is false

(D) Assertion (A) is false but Reason (R) is true

[23] CQRP- 1



32.

33.

ofed ®
mw%ﬁﬁm%wﬂﬁmﬁa@@
(A) A SR (B) HA
(C) wem (D) @feeer

dure for the work of Stat
The main force forming the principles of the procedure

Government is :
(A) Planning Commission (B) Minister
(C) Chief Minister (D) Secretariat

ﬁﬂwmm%1wﬁm(A)aﬂtq@ﬁW(R)@W%=

WO (A) : ST W g e 4 T G e T R g

HTUT (R) : Tl SR § we % e & oy fafies SwEirae T/ T

Wﬁwﬁﬁ:ﬁaﬁﬁﬁmﬁmﬁﬁaﬁ?—mﬁ%?

(A) ST FE (A) T F (R) T § 741 FUA (A) H GG TILE FRO (R) @

(B) THi HYT (A) U1 HRU (R) T& § W HUA (A) H TRl TIRIH FRI (R)
T T

(C) = (A) §&l ¥ Ig FRU (R) Terd ©

(D) & (A) TE@ § WA FRU (R) et §

In the following questions, there are two statements. One is labelled as Assertion (A)

and other is labelled as Reason (R) :

Assertion (A) : The courts are barred from enquiring into the

the ministers to the Governor.

advice rendered by

Reason (R) : There is no provision in the Indian Constitution for the system of

legal responsibility of the ministers in the States

In the context of the above two statements which of the following is,correct?

(A) Both Assertion (A) and Reason (R) are true ang Reason (R) is correct explanation
of Assertion (A) ,

(B) Both Assertion (A) and Re
explanation of Assertion (A)

(C) Assertion (A) is true but Reason (R) is falsc

(D) Assertion (A) is false but Reason (R) ig s

ason (R) are trug byt Reason (R) is not correct

[24] ————
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34. @ﬁﬁm%zﬁmafmmmwﬁﬁﬁﬁa%?

35.

36.

(A) =Ran (B) THich

(©) foomag (D) ehelieem

In which district, the major portion of the Chhuri hills is distributed?
(A) Korba (B) Mungeli

(C) Bilaspur (D) Kabirdham

WWW@W@W, 2019-21 % IFER TG F wEA g
(TFR) =1 & 9 ferft 22

(A) 1.8

(B) 2.0

(C) 22

(D) 24

What is total fertility rate (TFR) in Chhattisgarh as per Fifth National Family Health
Survey, 2019-21?

(A) 1.8

(B) 2.0

(C) 22

(D) 2.4

ﬁqﬁf@awﬁﬁwﬁﬂﬂaﬁﬂ%mmﬁmﬁwwwﬁ@ feg sk 9=
Af=li/mal & TR € ?
(A) e (B) ufsm

(C) Y (D) =FR™

Which of the following archacological sites is located on the bank of river Mahanadi
and has temples/monuments of Buddhism, Hinduism and Jainism?

(B) Rajim

(D) Champaranya

(A) Shivrinarayan
(C) Sirpur

[25] CQRP- 1



37. TER T 1 I WA FEl 6
(A) Hereien TErel
- (C) RS i
Where is origin place of Malger river?
(A) Bailadila hills
(C) Keshkal valley

38. ﬁmma@mmﬁmﬁmmﬁﬁ%%?gﬁﬁﬁaﬁm:

(B) Abujhmar hills
(D) Jhiram valley

(a) i HiHue (i) etfea
(b) STEEEH (i) fawet
(c) . % A&l (iii) Famm
(d) |4 €Hve (iv) FAEETET

(a) ) (c) )]
A)  @v @) ) ()
B) (@v) () ) (i)
© @ @) v Gi)
M @ @ G W)

The following cement factories are situated in which Tahsil of State? Correctly

match :

(a) Shree Cement (/) Ahiwara

(b) Ultratech (i) Tilda

(¢) J. K. Laxmi (i17) Simga

(d) Century Cement (iv) Balodabazar

@ & © @
(A @y @)y G ()
®B) (v) Gi) @) @)
© G G @) i)
D) () G i) (i)




. T § wh weR w e w g wif

@ wuer iy
(a) =R (i) R
() TA-geeR (if) <TE
(c) Hw (iif) e
(d) TR (iv) e

(@ @) (9 (d)
(A) ) @iy (i) ()
B) @) vy @) (if)
€ @) G () (1)
D @ @ vy i

Match the mineral deposits and areas found in Chhattisgarh :

Mineral Deposit Area
(¢) Diamond (/) Latapara
() Limestone (/1) Jangda
(¢) Manganese (/i) Jhipan
(d) Garnet (/v) Parsoli

(@ (b) (c) (d)
(A)  (iv)y (i) (i) (/)
(if)

—

(B) (i) (i) (i
(C) G i) () (i)
(D) (&) iy  v) (i)

B [27] CQRP -



; HIfoC :
40. A1 oy o e A ey g s @ @ G

Teit-1

(7€)
(@) w@is
(b) =A™
(¢) Wi
(@) el

(a) (b) (c)
A) @) @ ()
B) v Gy ()
© G Gy )
@ @O @G v

geit-11

( ST TITT)
() T
(i) EH&U BN
(iii) TG TETE!
(iv) TR

(d)
(i)
(1)s
(iv)
(iii)

Match the following river given in List-I with the place of origin given in List-II :

List-I
(River)

(a) Mand
(b) Banas
(¢) Jonk
(d) Kelo

(@ b) (o)
(A) Gy () (Gv)
B) ) G i)
© @) G )
O & @ ()

List-I1
(Place of Origin)

(/) Ludeng hills
(ii) Sonbera plateau
(7if) Devgarh hills
(iv) Mainpat

)
(1)
(4)
(iv)
(iii)

[28]
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41. Frefafes ‘SHeenr’ =1 3w TARY,
et % ge, Sfe wew s
9T w1 T, WA @ e
(A) e (B) W&
(C) st/ (D) ¥
Answer the following ‘Janaula’ :

o Y & e, sfs e st
T Fh T, WA Y@ framg "

(A) Kite B) Air

(C) Soul/Spirits (D) Sun

42. w&E ‘e’ R ot § e s §2

el S fag .
(A) o @ | g (B) HES F T I
(C) sifqm fofa (D) wewd g

In what sense is the presented ‘Hana’ spoken?

Write the correct answer :

“dH faer we faEm
(A) To ask three people (B) To defer judgement
(C) Final decision (D) To agree

B [29] CQRP- 1



43. 9E@ ‘e fem oW W Hhg ¥ 2

44,

et SR o -

BT FH R A

S TFamt =)
(A) frwma @ (B) o w1 HEW T HerT
(C) wrwRETE g (D) 3ien BT

What does the presented ‘Hana’ signify?

Write the correct answer -

"Rl W F FEel aMl,

EERIE i e T
(A) To be powerless (B) a hapless not getting any help
(C) To be careless (D) To be blind

N €1 Fehell € 2 39 ‘SN’ & IH iR WE I 1 fafsd ¥ -
‘e gfedl, & W g T % U
(A) faa (B) =
(©) s (D) SWH ¥ § HE
What may be? Understand this “Janaula® and mark the correet answer :
“us gfggr, & w1 g U1 % Wl
(A) Coconut (B)  Wood-apple

(C) Egg (D) None of the above

[30]

CQRP -



45. ﬁmmmmmﬁaqqa%?
"' wEYR wemA W S
EIUICEe ST B T Lt
T Qe % {ISH G
foa S & ST & 916t
T YT % TR qT
fam fag & ool s & L

(A) chaen THT
(B) 3tfeHa =g

(€) TI TN
(D) $o =M

From which story is the following poem quoted?
AR S S R Y WE
o/ W F HISH TH K
foq Sid & SHHA & =8
g0 4 & TN THR
fam faga & g & F L
(A) Kanvala Rani
(B) Ahiman Kaina
(C) Phool Kunwar.

(D) Phool Baman

[31] CQRP- 1



45. 7= wmeate fvm men ¥ sgy@ §2
"'Hg WA wemE W sl
TR T ST WY 9
i BEU % {ISH U &
o Sid & S % =St
T YT % TR TR
fom fogT & wadt s & L
(A) Sher T
(B) 3ifema wem

(C) T TR
(D) Fo A

From which story is the following poem quoted?

“Fg FeAYR) deHA Sl S
AR S S R TR

o/ ST % IS TH <k
fam Sia & ST o =T

&0 g * T 9K

ot fgt 3 e M L

(A) Kanvala Rani
(B) Ahiman Kaina
(C) Phool Kunwar.

(D) Phool Baman




46. = T frga 29
"I e T i g
qE I FIM 4 |
A Y F AR hEE,
T g s g

(A) THER JwE
(B) TF= wive
(C) Fa WL
(D) =l e Sieh

Whose composition is the following?

‘IR T8 HaTE I %,

g IET UM FY |

q el g F Tha [hdgl,

L Gj,?alﬁ fagam @0’
(A) Rameshwar Vaishnav
(B) Mukund Kaushal
(C) Sushil Bhatt

(D) Dr. Dadulal Joshi

~NDRDP -



(iii) mm%mqmw%@mé~éawﬁaﬁwm%§m(CAMpA)%m
SYART far s g @

(A) (), (i) 3R (iii)
(B) (i) 3R (if)
(C) (@) 3R (i)

(D) %aa (iii)

What is/are true about ‘Mukhyamantri Vriksharopan Protsahan Yojana’?

(/) This scheme was started on 1st July, 2021
(ii) Principal Chief Conservator of Forests is the Chairman of State Level Monitoring

Committee formed for the implementation of this scheme

(iif) Under this scheme, for installation of High-tech Nursery for tree plantation,
CAMPA fund can be utilized

(A) (i), (if) and (i)

(B) (i) and (i1)

(C) (i) and (iii)

(D) Only (iii)

[33] CQRP- 1



8. T STl qEER, 2021 % we ¥ frefafa 1 gafEd HC

(@) TR T
(h) 3. gade =9 wom
() VR dEREm fig R
(d) o T

(a) (h) (c) (d)
(A) D) Gy i) (iv)
B) () (v (i)
C©) Gy @y (i) (1)
(D) () () (iif) (iv)

() g Tl WY
T co il s
(jii) <R wEE O

(i) Bl. HedAl W

Match the following in reference to Rajya Alankaran Purashkar, 2021 :

(a)
(b)
(¢)

(d)

(A)
(B)
(C)

(D)

Gundadhur Samman

(/)  Kumari Rohani Sahu

Dr. Khubchand Baghel Samman (if)  Mukesh Chaudhury

Saheed Veer Narayan Singh Award (iii)  Janki Prasad Pulast

Minimata Award

(a)
(1)
(1)
(iv)

(1)

(h)
(ifi)
(ii)
(iii)
(if)

(c)
(if)
(iv)
(i1)
(iii)

(d)
(iv)
(iif)
(1)
(iv)

(1) Dr. Kalpana Deshmukh

[34] ST =
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49. fr=fafea 4 4 $19-9 g ot gafea & ¥ 2

TG 9T watea faurm
() YR JfyamE - “ ey faum
(if) TEAHEA WEEed Gl ~ gHTEd we Aot famr faam
(iii) gEAHst gamo e ~  wfgen vd ae famm faum
.(h') TRy =G A ~ IR g faam
(v) Wmed o IS - CIERERI

(A) () (i) i)y (V)
(B) () () (7) (i)

The Genuine

(C) (i7) (iii) (iv) (V) Lear:::g:pp s
(D) (ﬁi) (iv) (v) (1) g

Which of the following pairs is not matched correctly?

Important Scheme Related Department

(i) Sanskar Abhiyan — Health Department

(ii) Mukhyamantri Swavalamban - Panchayat and Rural Development

Yojana Department

(iii) Mukhyamantri Suposhan Abhiyan = Women and Child Development

Department

(iv) Tirath Barat Yojana Urban Administration Department

(v) Samarthya Vikas Yojana - Agriculture Department
(A) () (ii) (iii) (iv)
® @ M O
(©) iy i @) (v)

(D) (i) (V) (v) (1)
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(A) Bl > TSHRNE > HREHE > TREG
(B) Wﬁa>aﬁw>mﬁﬁ> TR
(C) FREN > ISR > TREATR >  HETAHS

(D) TSHIENE > HRa1 > TRV > TEHE

As per Chhattisgarh Economic Survey, 2020-21, arrange the following districts in

decreasing order of Literacy Ratio of female :

(A) Korba > Rajnandgaon > Mahasamund > Narayanpur
(B) Rajnandgaon > Korba > Mahasamund > Narayanpur
(C) Korba > Rajnandgaon > Narayanpur > Mahasamund

(D) Rajnandgaon > Korba > Narayanpur > Mahasamund

[36] CQRP -



51. ﬁmmﬁaﬁwmﬁmgﬁ;
FETL 21907 § il aififer sy Y srer T faee Hw Y @ of
FAT-I ;W Afaem § w5 @ (S 9 @ ww ded) o faafea @
SIT-L 2 1916 H =iftfes arfercrym F i & ) 1, =y deft ofR 1w deft =1 foera &
T 3H AYEYE i eremarn wHd, famr 3 #)
(A) =EF-1, 10, 111 9ft uet &

(B) weE-1, 11, 11 93t o| §

(C) =¥F-1, I W&l § fog Fua-111 7ot ®

(D) weH-1, 11 o § foieg Fom-111 &2 ®

Choose the correct option after reading following statements :

Statement-I  : In 1907, Congress’s Annual Session was presided by Rash Behar

Ghosh

Statement-II : In this session, Congress got divided into two groups (Moderates

and Extremists)

Statement-III : In Congress’s Annual Session of 1916, two groups (Moderates and

Extremists) got united. This session was presided by S. P. Sinha
(A) Statement-I, IT and IIT all are true
(B) Statement-I, 1T and III all arc false
(C) Statement-I, II are true but Statement-111 is false

(D) Statement-1, 11 are false but Statement-111 is true

B _ [37] CQRP- 1



R o R
FUAA-1 ¢ ol vRdr SR @ wem ware 1871 d feRar Tl
HUT-I1  : T 1881 H WG SEVRT U Frafia SreE o9 T
HUT-I : 1900 ¥ 1940 ¥ w19 40 Wil ¥ whmm wed o T e w
10% &/ sgat 18% ot T

(A) Hua-1, 11, 111 Tt et &
(B) Faa Fya-1 Tt &

(C) Fae FuF-11 et &

(D) “had wYA-111 98t &

Read the following statements and choose the correct option :

Statement-I  : First All India Census was attempted in 1871

Statement-II : From 1881 onwards decennial censuses became a regular feature

Statement-III : In forty years from 1900 to 1940, urban population increased

from 10% of total population to 18%,
(A) Statement-I, II, III all are true
(B) Only Statement-I is true
(C) Only Statement-II is true

(D) Only Statement-III is true

B [38] CQRP- 1



53. T YieA s, 1953 & wd F 1wl W faw w=a gu wE faeed 99 -
PEEL S W orell, . @ TR R gREy G s weE 9
FET-IL 2 SR avegd ik dome & faurem w1 gmeds R

FEI-IT : F6 F 9 T s &, 1956 % TEA 14 T 7T 6 =% WA 8 T
g

ST |/ -\ PH-9 wu Te 882
(A) 1, 1I 3R 111

(B) 13RIl
(C) %ad |

(D) 13RI
Read the following statements with reference to State Reorganization Commission,
1953 and choose the correct option :

Statement-I  : Justice Fazl Ali, K. M. Panikkar and Hridaynath Kunzru were its

member
Statement-II : Commission supported the splitting of Bombay and Punjab

Statement-III : As per State Reorganization Act, 1956 passed by Parliament,

14 States and 6 centrally administered States were made
From the statements given above, which is/are true?
(A) 1, II and III
(B) TandlIl
(C) Only I

(D) I and I

B [39] CQRP- 1



54. Wﬁ@g@m%ﬂmmﬁqmﬁ;mﬁaﬂ?-m/ﬁ—ﬁm

el 8/ 7
HA-1 ;9 URA & 169 &I A 9 |
FHuA-11 :équ@a@ﬁuwwmmﬁﬁmﬁﬁmﬁm%

FHUA-111 : 37 Frfe Hiem dsftar gt 3 =t o

STE § / SHE-9/HH-8 FUF wE /8 ?

(A) 1 II 3R III

(B) 13RI

(C) 13RI

(D) <ae 11

Which of the following statements is/are true about previous Chief Justice of India,
Yashwant Vishnu Chandrachud?

Statement-I : He was 16th Chief Justice of India

Statement-II : Till date, he is the longest serving Chief Justice of India

Statement-III : He was appointed by Neelam Sanjiva Reddy

From the statements given above, which is/are true?

(A) I, II and III

(B) Iand Il
(C) I and 1II
(D) Only II
55. Wad &Y oEfy % fau 9Ra & ger = & 92
(A) TS= 7el gl (B) TH. I A
(C) TUTE aeed YeHTd (D) F9 TREY fiw

Who was the Chief Justice of India for the shortest duration?
(A) Rajendra Mal Lodha (B) ' S. Rajendra Bapy
(C) Gopal Ballav Pattanaik (D) Kamal Narain Stegh

D rAann D e




56. 443 HEUW Welte & wer § qm @ @GP E?
(A) I& HYUET S §@EHR (1977-79) g @ T o4

(B) 9% Wed 424 wfaum dvied o wead T

(C) TW WM ¥ g weelt wR ww e R T R ety e dfnied & gae
& fawlia wd & = g

(D) 9 WA ¥ g Uwafa = qf oF 9o S & gae i gEfdan o o s
S THAl § 99 qF 9¢ T o 0

What is not true about the 44th Constitutional Amendment?

(A) This amendment was brought in by Janata Government (1977-79)

(B) With this constitutional amendment, changes in 42nd Constitutional Amendment
was made

(C) Through this amendment first time it was made clear in Constitution that
President cannot act against the advice of Council of Ministers

(D) As per this amendment President can return the advice of Council of Ministers
for reconsideration as many times as he want till he is satisfied

57. afe fredl HRON @ WG % At w1 st § Squeafy Ut W8 F wEl 51 e
A L, 1 39 o ¥ gery ¥ PHE-"/EE-4 HYd 69 §/8 7
() =9 oafy ¥ swrgufd Tod | % wumld 4 @

(if) Tg emafy & fou Iwrgafd 1 wgat # o foem
(iii) afz =g ety § STl @I ¢ €4 ¥, @ URd % qEl <R e § 9%

%1 fades =
(A) (i), (ii) ¥R (iii) (B) (i) 3 (ii)
(C) (i) R (iii) (D) = (i)

If Vice-President of India has to discharge the duties of President of India in his
absence due to some reasons, then what is/are true for such duration?

(i) In this duration, Vice-President holds the post of Chairman of Council of
States

(it) In this duration, Vice-President will get the emolument ot President

(iii) 1f in this duration, Vice-President resigns, then Chief Justice of India will perform
the duties of President of India

(A) (i), (i) and (iii) (B) (i) and (ii)
(C) (ii) and (iil) (D) Only (i)
B [41] CQRP- 1




S58.

59.

ﬁmww%mwﬁﬁgﬁ%ﬁﬂmﬁmﬁﬂﬁﬁﬁﬁﬁ—mﬂ

- e 202 | S
(i) TgF Yo w1 yauE g fades, o Aaeas T Gfaum deHA ¥

fow o @ |
(i) Frelt o feafer F TaEn S SEEMI TR @A B ST TR FL TR S
(ii)) W W F foe 9 e ¥ o @l w6 ww-waa (1/6th) H1 T (FRm)
g =Ry
(A) (i), (ii) 3R (iid)
(C) (i) 3R (iii)

Which of the following statements is/are true in reference 10 the joint sitting of

(B) (i) 3R (ii)
(D) 7§ | HI3 &l

Parliament for passage of bill?

Provision for joint sitting is applicable for ordinary bills, financial bills and

(1)
constitutional amendment bills

(/7) In no situation, Deputy Chairman of Rajya Sabha can preside over the joint
sitting

(7iii) Quorum of 1/6th of the total number of members of both Houses to
be maintained for joint sitting

(A) (i). (ii) and (iii) ' (B) (/) and (ii)

(C) (/) and (iii) (D) None of these

fres & & foret T 6 e WS e W SRl S 3 o, omiew £
(A) I HH (B) sifzam

(C) =@IE (D) =1 wew
From which of the following States, maximum number of seats are reserved for

SChL‘dllled Tribes in LO]( Sabhili?

(A) Uttar Pradesh (B) Odisha

() Jharkhand (D) Madhya pradegh
[421 — i




60. ﬁqﬁﬁaﬁ?—mnﬁﬁfﬁ\wm%mﬂﬂﬂﬁm%?

61.

(A) JefS =g e sifuefar gt gl
(B) Well favmy wrareft whnfy

(C) 99 gra=eht gffy

(D) =ren wE ufer s gemh affd
Which of the following Committces does not come under the jurisdiction of Lok
Sabha?

(A) Committee on Social Justice and Empowerment
(B) Committee on Urban Development

(C) Committee on Labour

(D) Committee on Health and Family Welfare

A HEEH E (IPG) ¥ =y & wF-wvoH-§ sy wet &/F?
() ¥ U @Eg e 76 8

(i) €ES * Y4 OCH THS WCHE o §Hd ©

(iif) AR T UL T TSI 1 STHHATG FIE % oA (ex-officio) STEAL Era
g

(A) (), (i) 3R (i) (B) (i) 3 (ii)

(C) Had (i) (D) e (iii)

In reference to Indian Parliamentary Group, which of the following statements

is/are true?

(i) It is not an autonornous body

(i) Former Members of Parliament can become its member

(iii) Deputy Speaker of Lok Sabha and Deputy Chairman of Rajya Sabha are its
ex-officio Vice-Presidents

(B) (i) and (ii)

(D) Only (iii)

(A) (i), (i) and (iii)
(C) Only ()
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62. fr= ¥ wifsa wow #1 39% =% & od % Wy wE fae wW

&% ynfae e faw ad @
(a) &g (i) 1967
(b) T 3R <4 (i) 1966
(c) wEhmg (i) 1962

(d) TEU 3R IR gaelt (iv) 1956

(@ B (¢ @
A @ @) @) v
B @v) @) G) ()
© @ @ G 0
D) O @ @ )

Match the following Union Territories with their years of creation :

Union Territories Years of Creation
(a) Lakshadweep (i) 1961
(b) Daman and Diu (i) 1966
(¢) Chandigarh (7ii) 1962
(d) Dadra and Nagar Haveli (iv) 1956

@ b)) (¢ (@
(A) (9 (#f) (iii) (iv)
B) () @) Gy (@)
© @ @ @@ 0
o) @ DG @)
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76.

77.

Wm%ﬂmm%mﬁﬁwmﬂﬁ%?

(A) W R F fau sfuman w5 o 65 a9 3

(B) 9% W% 1% =it widt o1 et oveae g &

(C) =% an sfimgw uftee &7 aveny wrr &

(D) 9% & A wfufy =1 gew v

What is not true in reference to Chief of Defence Staff?

(A) Maximum age limit for this post is 65 years

(B) He is permanent Chairman of Chief of Staff Committee

(C) He is Chairman of Defence Acquisition Council

(D) He is member of Defence Planning Committee

= el 1 wewt e fowew o

() T fasie 1800 ¥ 1805 €. gam

(i) TS f95E w1 99 vHed A e

(iif) THEL 1 To5® o1 Gg A o9 3 foean
(iv) HeE, St W & far 9

IR § § FH-H/HE-8 FYT T /R ?
(A) (i), (i) 3R (iii) (B) (i), (if) 3R (iv)
(C) (i) ¥R (if) (D) e (i)

Read the following statements and choose the correct option :

(i) Ganjam Revolt occurred during AD 1800 to 1805
(ii) Ganjam Revolt was led by Dhananjay

(iii) Revolt of Gumsur was led by Shrikar Bhanja

(iv) Dhananjay was father of Shrikar Bhanja

Which of the above statements is/arc true?

(A) (i), (if) and (i) (B) (i), (i) and (iv)
(C) (i) and (i) (D) Only (i)

2|
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78. WRdE uftwg sifufy (1861)%Wﬁﬁﬁmﬁwwﬁm;ﬁ:
() wﬁm%wwwﬁmmﬁﬁmﬁmw

L]

(i) fafu fmfor ¥ fou ofafed 9eedl & W@ HA-H-HA 6 3R rfus-q-arfys
12 TG R

(iif) Wmmﬁﬁﬁmmwﬁamﬂﬁr@w

IRE §  SH-T/HH-Q HYT TEl /8 7

(A) (), (i) 3R (iii)

(B) (i) ¥R (iii)

(©) () R (iif)

(D) &a@ (i)

Read the following statements with reference to the Indian Councils Act (1861) and

choose the correct option :

(7)) As a result of this Act, total members of Executive Council of Governor General

became 7

(if) For legislative work, number of additional members could be minimum of
6 and maximum of 12

(iif) No differentiation was made between State and Central subjects

Which of the above statements is/are true?

(A) (i), (i) and (iii)

(B) (if) and (iii)

(C) (i) and (iii)

(D) Only (7)

|
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79. RAN 9Rwg sifufey 1892 % wrry H fie syl & yge wel fasmed o1 ¢
() 9 20 S, 1892 % vy few T |
() 39 24 wewdl § ¥ in-gwwd g 9 wen s o
(iii) Wﬁwm@mﬁwﬁmw
ST § } w1/ $-3 o wet 282
(A) (), @i) 3R (iid)
(B) (i) 3 (if)
©) (@) 3 Gii)

(D) s (i)
Read the following statements with respect to the Indian Councils Act, 1892 and
choose the correct option :

(/) It was implemented on 20th June, 1892

(i) Out of total 24 members, 5 were non-government members

(iii) Members were given rights to ask supplementary questions

Which of the above statements is/are true?

(A) (), (i) and (i)
(B) (i) and (i)
(C) (i) and (ii)

(D) Only (ii)
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80. =1 =l &t T :
T Bl T ) a@ﬁ%ﬁwsﬂ'asﬁmﬁr%m

81.

EEH |

heA-11

(A) FYF-1 @ wH-11 S TA ©
(B) wuA-1 wd weA-11 TH 318 &

mammmﬁﬁﬂmmm%

. A F T Y g TR+

e faviy i g9d

(C) Fu7-1 §d & g HuA-11 39 ®©

(D) FYA-1 3 & W HYF-11 99 &
Read the following statements and choose the correct option :

Statement-I

Statement-I1

J. D. Dana prepared a special Geological Time Scale to indicate

the geological history of Indian subcontinent rocks
As per Geological Time Scale, Indian rocks are subdivided into

Archean, Puranic, Dravidian and Aryan periods

(A) Statement-I and Statement-II both are true

(B) Statement-I and Statement-II both are false

(C) Statement-I is true but Statement-II is false

(D) Statement-I is false but Statement-II is true

feq To il % WEl weEEEES W A, S HEE [WH ¥, 9€ FEY RS SwT
(A) TrEfEd > &g > @Efed > 5@ > g
(B) 3AIfE > AEIfET > @@ > ©rRifad > gefaE
(C) wafE > wEfe > @i > wEife > Beifa

(D) Holocene > Pliocene > Pleistocene > Miocene > Eocene

(D) EIfET > @EfET > @R > JEfET > g9y

Choose the correct chronological order of given Epochs, oldest one will come first :
(A) Holocene > Pleistocene > Pliocene > Miocene > Eocene
(B) Eocene > Miocene > Pliocene > Pleistocene > Holocene

(C) Eocene > Miocene > Pleistocene > Pliocene > Holocene

|
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82. PR i for o @) s o @ wdt frem w5 -

(a)
(b)
(c)
(d)

(A)
(B)
©
(D)

Match the following geological heritage sites with their locations :

e farem o
TG ST Sframe g
[MElREN: I
R Wk
SR 3

(a) (b)
(7) (ii)
(iv) (iii)
(iii) (iv)
(iii) (if)

Geological Heritage Sites

ESIE
() e
(i) fasiioTg
(iii)  foefataeet
(v) farEr
(© (@)
(i) (iv)
(i) (@)
(i) ()
(iv) (i)

Locations

(a) National Fossil Wood Park (i) Buldhana
(b) Shivalik Park (i) Chittaurgarh
(¢) Stromatolite Park (iii) Tiruchirappalli
(d) Lonar Lake (iv) Sirmaur
(a) ()] (o) (d)
(A) (i) (ii) (iir) (iv)
(B) (iv) (iii) (i0) ()
© (iif) (iv) (if) (9)
(D) (iii) (ii) (iv) (1)
B [55] CQRP -



83.

84.

1 el & onyR W WS fawew w1 TAE B ¢
w1 : @ faadfE (Plate Tectonics) i fagrt 196
FALI @zﬁaﬁﬁﬁm@awﬁawmq‘mﬁﬁ

(A) FeA-1 wd HUF-11 9F T ©

2 % H. H. Hess 3 e o

(B) w¥A-1 Ud HyF-11 IF 76 ©
(C) Fo-1 e & Wy wuA-11 379 ©
(D) F¥A-1 3HA & g HA-11 T4 ©

Based on following statements choose the correct option :
Statement-I : Theory of Plate Tectonics was given by H. H. Hess in 1967

Statement-II Theory of Plate Tectonics is based on Theory of Seafloor Spreading

(A) Statement-I and Statement-II both are true
(B) Statement-I and Statement-II both are false

(C) Statement-I is true but Statement-II is false

(D) Statement-I is false but Statement-II is true

frefafaa ferrd w37 =R % Hed %9 9 |
(A) fasmd > feer > FAWE > s/ fodt > gim g
(B) feem > g g7 > faemet > |t > I frwd
(C) feom > faemAl > g g7 > WA > SR Rt
(D) fasrrdl > feor > s Rt > |@FE > g g

Arrange the following glaciers in decreasing order of their lengths :
(A) Biafo > Hispar > Sonapani > Bara Shigri > Drang Drung

(B) Hispar > Drang Drung > Biafo > Sonapani > Bara Shigri

(C) Hispar > Biafo > Drang Drung > Sonapani > Bara Shigri

(D) Biafo > Hispar > Bara Shigri > Sonapani > Drang Drung

N [56]
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85. TTAICE Tl 9 wef frfttq w2 el 91 Tem ¥ SMUR W A HA F WM
(A) WA N > TSR > e > e > S
(B) oM > Hen sy > trorear > atiy w1 > Fefmen
(€) TG > 7 wow > omem > Fem > a1y w1
(D) H¥ WU > TORE > IeTE > USRI > 31 W,

Arrange the following States in descending order with respect to number of large

dams constructed there :

(A) Madhya Pradesh > Gujarat > Rajasthan > Telangana > Andhra Pradesh
(B) Gujarat > Madhya Pradesh > Rajasthan > Andhra Pradesh > Telangana
(C) Gujarat > Madhya Pradesh > Rajasthan > Telangana > Andhra Pradesh
(D) Madhya Pradesh > Gujarat > Telangana > Rajasthan > Andhra Pradesh
86. ITATHAH. COP26 Fifdwr # v 1 & Tl wimga ¥ wedl H = WEl W 2
(A) WA 2030 qF FEA Iegs H UF faferdd e 9 hl HH BT
(B) SR 2030 TF YT Tl Srewdl i 60 Wiaww i e Fon H HOm
(©) TR 2030 TF ST TR-SEwE M &H i 500 TERE 6 SEl W
(D) 3= ¥ & #1 Tl
What is not true about commitment made by India at UNFCC COP26 Conference?
(A) By 2030, India will reduce its carbon emission by one billion tons
(B) By 2030, India will meet 60% of its total energy requirement by renewable
energy

(C) By 2030, India will increase its non-fossil energy capacity to 500 gigawatts

(D) None of the above

B [57] CQRP- 1



. = ~2021
87. Fraffam s a1 s 4 % e gt TR for I TEAI-2021 SRS

[ERURIE)
-1 -1
(@) FSild =A™ (i) wen
) gfem SR (ii) iR T (Tfeerd ST )
(c) quiaTEt STt | (iii) wfeca wd foe
(@) fasivan et (iv) woT FT

(a) (b) ) (@
@ O @
(B) (i) (iv) () (1)
© (1) (iii) (iv) (if)
(D) (iii) () (iv) (i)
Match the following personalities with their fields in which they have been awarded
Padma Shri-2021 :

List-I List-11

(@) Sujit Chattopadhyay () Art '

(b) Tsultrim Chonjor (if)  Public Affairs

(c) Pumamasi Jani (i)  Literature and Education
(d) Bijoya Chakravarty (iv) Social Work

(2) (b) (c) (@)
(A) (?) (if) (i1i) (iv)
(B) (¢if) (iv) (1) (i)
(€) (i) (iti) (iv) (if)
(D) (i) (i) (v) (if)

s
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88.

89.

90.

ﬁaﬁtww’fﬂ'ﬁmﬁﬂﬁmmﬁmﬁuﬂ%?
(A) 7=

(©) faoes

(B) M
(D) "

‘Fai i ice’ i
It and Remunerative Price’ is related to which of the following crops?
(A) Sugarcane (B) Paddy

(C) Oilseeds (D) Wheat

WWW(WPI)ﬁWﬁﬁﬁﬁamaﬁqﬁ (wfae &) foreamm &2
(A) 62.43% (B) 64.23%

(C) 63.43% (D) 60.23%

What is the weightage (in percent) of manufactured products in calculation of
Wholesale Price Index (WPI)?

(A) 62.43% (B) 64.23%

(C) 63.43% (D) 60.23%

SRIET 71 w19 (IMF) & 9Ra 1 fodi ametor aifersr e wd a1 whm s
fpam 22

(A) 2.75%, 2.63%

(B) 2.63%, 2.75%

(C) 2.36%, 2.75%

(D) 2.36%, 2.57%

What are the special drawing rights percentage and vote percentage respectively of
India in International Monetary Fund (IMF)?

(A) 2.75%, 2.63%

(B) 2.63%, 2.75%

(C) 2.36%, 2.75%

(D) 2.36%, 2.57%

w
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1.

92.

¥ MM W FEd WY

stk e 2020-21 & sER fe T B SN |

T

(A) ToRE > T W > Uee > wRAmn
(B) W& WaWl > TeRE > Yo > gfEmn
© W>ﬁﬁﬁ>ﬂwm> g

(D) =g W > o6 > ERAwn > 4
As per Economic Survey 2020-21, arrange the following States in decreasing order

of milk production :

(A) Gujarat > Madhya Pradesh > Punjab > Haryana \
(B) Madhya Pradesh > Gujarat > Punjab > Haryana
(C) Guijarat > Punjab > Madhya Pradesh > Haryana
(D) Madhya Pradesh > Gujarat > Haryana > Punjab

T % g # F we A 22

(A)amm(wms)wwzamaﬁwﬁam@.maﬁmwﬁmgw%

(B) R &1 i TEe S| RNA $9e DNA Seiid g1 §ehdl §

(C) DNA aHifa ameed sifeemivm: fime wee g @ |

(D)RNAMHﬁHHﬂWDNAwmﬁHWHﬁWﬁ s sTER
Tftada (F2e) Fd E

What is not true about virus?

~ (A) Virus term was coined by Dutch microbiologist M. W. Beijerinck

(B) Nucleic acid genome of virus can be DNA or RNA-based
(C) DNA-based viruses are usually single-stranded

(D) RNA-based viruses accumulate more genetic changes (mutations) as compared

to DNA-based viruses

[60] —
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93.

FA S (2015-16) & wmf § w4 wh ¥/82

(?) '

‘ aﬁaﬂ??ﬁmﬂ%ﬁﬁﬂm%&ﬁaﬂsﬁ.z wfer € Sf 4 et 47.3 whww e
0 (F vy B H) ¥ e §

(i7) TR PR H Fo1 wom F omur W w9 o o
(iii) WWW@%W%WWWWHWWW%
(A) @, (i) 3R (i)

(B) () 3R (i)

(©) () 3R (i)

(D) &« (i)

What is/are true in reference to Agriculture Census (2015-16)?

() Small and marginal farmers are 86.2% of total farmers whereas they hold only

47.3% of farm land (out of total farm land)

(ii) Statewise, based on total number of farmers, Maharashtra is at third position

Statewise, based on total farmed land area, Rajasthan is at first position

(iif)
(A) (i), (i) and (iii)
(B) (i) and (iii)
(C) (i) and (i)

(D) Only (i)

|
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e o ¥
94. F11 H § fort Uil § e w2 R G FAT ST F T E I

T w2

() TR H T q@H W

(i) R A FT FET SHetEes A4 dih T W

(iii) FR ¥ FT T T gq qgA A

(iv) TR TR F e TeeE fy SR HeA SesiEEEe g S W

(A) (i) 3R (iii)
(B) (i) 3R (iv)
(© () ¥R (iid)
(D) (i) 3 (ii)

In which of the following conditions distance between molecules of carbon dioxide

filled in a container may increase?
() On increasing the volume of container

(1i) On leakage of some carbon dioxide gas from the container

(iif) On increasing air pressure in the container

(iv) On adding more carbon dioxide gas in container without changing its size
(A) (i) and (i)

(B) (iii) and (iv)

(C) (i) and (i)

(D) (i) and (i)
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95.

%‘G’T“Elﬁa-{-qqﬁ
ﬁ_ﬁﬁmmm?ﬁﬁ4kHzaﬂlmﬁﬁlﬁﬁf3sﬁ.%?ﬁaﬁ3ﬁﬁ.{ﬁmw

(A) 21.4 Yoz :
©) 124 Yz o)
(D) 1.24 ¥%ve

A sound wave
has frequency of 4 kHiz and its wavelength is 35 cm, then how much

time will it take to travel a distance of 3 km?
(A) 21.4 sec

(B) 2.14 sec
(C) 12.4 sec

(D) 1.24 sec

96, TN F WS wol F s s wd 3

(i) ﬁﬁmmﬁmmwmwmﬁm@am%

(i) TSI % 319E F wrerede dfwes ofae ¥ w9 & et o 3

(i) ST HY orqefeefs § wede we edsaEe R e ¥ w9 § et

BT ®

(A) (), (i) 3T (i)
(B) (i) 3R (iii)
(C) (i) 3R (iii)
(D) had (iii)

Which of the following statements is/are true in reference to break-down of glucose?

() In cytoplasm, glucose breaks down into pyruvate which has four carbon

molecules ’
(i) Due to lack of oxygen, pyruvate gets converted to lactic acid
(iii) In absence of oxygen, pyruvate gets converted to carbon dioxide and ethanol
() (@), (ii) and (iid
(B) (i) and (iii)
(C) (ii) and (iii)
(D) Only (iii)

i
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57, e s et el 3wt 4 AR @ V2
() Wﬁu@maﬂ?wﬂﬁmaﬁﬂﬂi%
(i) seafR § 18 wen @iefit # 15 THEL € |
(f:‘i)mﬁﬁwﬁamﬁmﬂ@%mm% )
(A) (). (i) 3 (iii) (B) (i) 3 (if)
(C) (i) 3 i) (D) e (i)
What is/are correct in reference to Udayagiri and Khandagiri caves?
(/) It has both natural and artificial caves
(if) Udayagiri has 18 and Khandagiri has 15 caves |
(iif) Khandagiri caves are famous for Hathigumpha inscription
(A) (i), (i) and (iii) (B) (i) and (i)
(C) (i) and (i) (D) Only (i)

98. ‘fayfem' & wfam = €2
(A) =TT (B) TgHERHE
(€) =gay (D) IEE
Who is the author of ‘Visuddhimagga’?
(A) Nagarjuna
(C) Vasubandhu

(B) Padmasambhav
(D) Buddhaghosa

99. 'TIHAR =  HRAl JEHR & T H Fa gel § 2
(A) 7% R fordl =afad o Q Slemee § %ae & o) & o s e
(B) ¥+ Teh W ‘T 99’ H =R W sifha et
(C) 31 ToEw=R, 2021 T 25 AN 1 THAIN =6 Y&H fohal =1 gt &
(D) 39 YU&HR il 26 e, 1952 1 wifyg frar o

What is true about gallantry award ‘Param Vir Chakra’?

(A) This award can be given to an individual only once in his/her lifetime
(B) On its medal, four replicas of ‘Indra Vajra’ are embossed

(C) Till 31st December, 2021, 25 people have been awarded with Param Vir Chakr
(D) This award was instituted on 26th January, 1952

Fe=d CQRP-



100.ﬁvrﬁ;1§waﬁmmwhawﬁgﬁamr

Fard e

(@) Fewrd
(6) wafr
(©) wg
(d) =

(@) ()
(A) (@) (ii)
(B) (i) (iv)
(&) 6) (iii)
(D) (i) (iv)

Match the following embroidery arts with their related States :

(¢)
(iii)
(iii)
(if)
)

()
(iv)
(iii).

?|

Embroidery Arts States
(@) Phulkari (/) Karnataka
(b) Dharaniya (ify Punjab
(¢) Kasuti (iiif) Rajasthan
(d) Karchobi (iv) Gujarat
(a) (b) (c) (d)
(A) (1) (if) (iii) (iv)
(B) (if) (iv) (iii) ()
(C) (i) (iii) (if) (iv)
(D) (ii) (iv) () (iif)
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